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< 2,275 2,275 0

= 58,525 69,909 A11,384

MERH EH2tel 60,800 72,184 A11,384

S 2,275 2,275 0

s 58,525 69,909 A 11,384

OrsAE 252l 49,424 60,808 A11,384

201 LEH2HH| 4,362 8,486 N4 124




SN BHBHDL
M MEH 25
ol MEfH X (Erol: @2
SH-EH . S2(30) - MRAY - BES Ofl & 04 I HRE2
01 AtSR22/Hl 4,362 4,380 A 18
Ooleg=¢] 700 280 420
OOFMSAZESIAR2RNE Ba+T
70,0008 * 321 = 23 420 0 420
Ol=&tl] 1,662 2,100 N438
04BE 29 S2HAI(ZoMTZN)
Z2E 1,662,0008 * 14 1,662 2,100 A438
02 2323l 0 4,106 N4,106
O[xt&detyl] 0 4,106 24,106
O+BT ANIY RETY 3y 02l 0 4,108 £4,106
202 O4Hl 1,440 1,600 A 160
01 WY 1,440 1,600 A 160
O+BE 2AR 0Hl (20l A=)
A 20,0002 * 491 * 182 1,440 1,600 A 160
206 M=l 450 500 A50
01 Mzl 450 500 A50
OSHI| OIUSS 20| Y (R0 AEZH)
A 4500008 * 14 450 500 A50
207 A0 18,000 20,000 A2,000
01 A& SHI 18,000 20,000 22,000
OOMEAES 8579 XE BEIIZEMN 8Y
TIEXCPE-ETE 8,000,002 * 14! 18,000 20,000 £2,000
301 etEas 10,000 15,000 5,000
12 JIEE A3 10,000 15,000 5,000
O+YF2Y FOANHBLS A3y 0 0 5,000 5,000
307 21240 450 500 A50
01 SI2€ <2l 450 500 A50
OOIMES XI2HI (20 AE o)
Z & 450,000& » 14l 450 500 A50
ookt A 0 60,000 260,000
= 0 30,000 £30,000
i 0 30,000 230,000
ot H FHIALY 0 60,000 260,000
& 0 30,000 A 30,000
= 0 30,000 A30,000
oH&Mel Dl =HHMel At 0 60,000 A 60,000
= 0 30,000 230,000
2 0 30,000 A30,000
101 Q14| 0 18,000 A 18,000
= 0 9,000 9,000
= 0 9,000 29,000
10 JIZtMZ22Hs2+ 0 18,000 A 18,000
OsfgMaDI£H el o2y A3y 0 0 18,000 18,000




SN BHRHED
M olorEH F Y|
SHl: O1oHE A HUIALYS (Sl #)
A HH . CR(S) - NRAY - BHLS 0 Ak o4 7|5 o HRE2
= 0 9,000 A9,000
= 0 9,000 29,000
401 Al&HI LS04I 0 42,000 A42,000
= 0 21,000 A21,000
i 0 21,000 A21,000
01 Al&H| 0 42,000 A42,000
Oodl Al =HAxeldl 28 0¥ 0 42,000 242,000
& 0 21,000 A 21,000
2 0 21,000 £21,000
a2 2e 116,764 122,152 A5,388
BZgu 25,598 28,442 A2,844
Sz g e 25,598 28,442 AN2,844
201 Let2d| 5,618 6,242 NG24
01 AtE22lHl 1,125 1,250 A 125
Olget==&Hl] 1,125 1,250 A125
O2FAID SARIE(ROAELH)
Z2 & 500& = 9500H 475 600 A125
02 =234l 4,493 4,992 A 499
Oxtgdettl] 4,493 4,992 A499
OBF2HHT NTHEXY SJul(204
2 o) 4,493 4,992 A 499
ox=U 2 & 3,503,000& = 14| 3,593 3,992 A 399
o ==2clHl Z & 900,000& * 14 900 1,000 A 100
301 LetEas 900 1,000 A 100
12 JIEtR A S 900 1,000 A100
OBZHHS ADEBHB(Zo AT )
23 50,0008 = 18A 900 1,000 A 100
405 KHAHFESHI 19,080 21,200 A2,120
01 RAUSEH S| 19,080 21,200 £2,120
O2SEFI|(2oaE )
Z& 7,920,000& = 14| 7,920 8,800 A 880
O HTYIR (2OILE2AY)
Z& 4,860,000& = 14| 4,860 5,400 A 540
OZESI| A2 P (=0 A=)
Z & 6,300,000& * 14 6,300 7,000 AT00
Az 2 91,166 93,710 N2,544
HMegstdusoZ2 ] 7,560 8,400 N840
201 et 5,310 5,900 2590
01 AtS 22l 5,310 5,900 A590
Olget=&Hl] 5,310 5,900 A590
O1LEANENA 2SI (2HAE2LNH) 2,910 3,500 A 590
o2 M Z& 50008 * 382% 1,910 2,500 A 590
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SN SHABSAY
Mz stHAES e
SRl XosAEN (St &=
2AH -3 - SH2A(SH) - MEAMY - BHES Of] AF2H pjEsifon Hl =2
OXNHESHHE AEI|E SBL AlAH (20 AE
2HoH) A 225,000 * 14l 225 250 A5
Z29o2i8 o5 XA 13,500 15,000 A1,500
307 QI2to|A 13,500 15,000 A1,500
02 QIZtAAEX 13,500 15,000 A 1,500
OFEESHA2IE S 2FH|(20lAE2ZH)
ZA 13,500,000 * 13l 13,500 15,000 A1,500
HE AS OHF 145,297 144,730 567
olgsdatel 145,297 144,730 567
SHHY NS 23,589 26,210 A2,621
201 LEt2HH| 14,229 15,810 21,581
01 AFRZt2lH] 14,229 15,810 A 1,581
Ofgetz=2d|] 1,540 2,310 AT70
OSHAENT EH 82 HE (20 a2
o) A 70,0008 * 1104 * 13 770 1,540 AT70
O[ex2] 12,689 13,500 A811
OSHNY Stz MEt A (20 AE2HH)
ZA 6,689,0008 * 1Al 6,689 7,500 AB811
202 OfH] 360 400 A40
01 2o 360 400 A40
OSHNY =S oHI (20 A= M)
ZA 360,000 * 14l 360 400 40
307 QIZto|A 9,000 10,000 A 1,000
05 BI2+2IEHZ 9,000 10,000 A 1,000
O2YHHT S Al (20 AFE2H)
A3 500,000 * 9€ 23 9,000 10,000 A 1,000
AR 22 12,708 8,520 4,188
201 LEt2HH| 7,218 8,020 A802
01 AtRZ2lH] 7,218 8,020 A802
Olger4=2H|] 7,218 8,020 A802
OA2RAAK BEA EXE HE (2062
o) ZE 4,198,0008 * 14! 4,198 5,000 A802
202 OfH] 450 500 A50
01 2oy 450 500 A50
OLAMSAMI BEAl S8SSHE U (20 AR
o) ZE 450,0008 * 14! 450 500 A50
401 Al&HI LS 5,040 0 5,040
01 Al&H] 5,040 0 5,040
OD| e E SHA| 2t8 A X
5,040,000 * 14l 5,040 0 5,040
Dol 82 22X AICHE 9,000 10,000 A1,000
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2N BBRED
HH: HHSAAH(BPLHI)
S EPIEET (ol ®el)
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K JE A Blus
Olgit=+&Hl] 11,823 13,650 A1,827
ORANSY SUNA(Z0aE2AY)
2T 11,823,0002 » 14 11,823 13,650 A1,827
202 01t 5,670 6,300 A630
01 2Uhoit] 5,670 6.300 £630
oRMeY
A 5,670 6,300 £630
sFNEEY Il 21,402 23,780 £2,378
201 2ere | 8,802 9,780 ~978
01 At 22l 8.802 9,780 £978
Olyersg 3,402 3,780 ~378
O=N2
4| 3,402 3.780 A378
ol2z 5,400 6,000 A600
ORN2Y
A 3,400 4,000 A600
202 Ot 12,600 14,000 A1,400
01 2hoit] 12,600 14,000 A1,400
oRMeY
A 9,600 1,000 A1,400
sy ol 10,467 11,630 A1,163
201 Yeregy 6.219 6.910 2691
01 AtR2el 6.219 6.910 £691
Olyersg 2,879 3,570 £ 691
oMY
4| 2,879 3,570 £691
202 Ot 4,248 4,720 N472
01 2hoit] 4,248 4,720 A4T72
SN2Y B
4| 4,248 4,720 A4T72
2A0/5ES I 12,814 14,238 A1,424
201 Lpr2 | 5,670 6.300 £630
01 AtR2el 5,670 6.300 A630
Olyerssg 2,835 3,150 A315
O=N2
A 2,835 3,150 A315
SIEET 2,835 3,150 A315
oMY
4| 2,835 3,150 A315
202 01t 7,144 7,938 A79
01 2Lhoitl 7,144 7,938 A79




SN SHABSAY
M. HYSHHH(SHEED
2l JI2&| chol: xS
2N -3 - c2(3H) - NEME - HES A oH I & Hl =2
OBANSZE SHHA (20U AE2NH)
A 7,144,0002 *« 14 7,144 7,938 AT
SN J=2HH| 11,734 13,038 A1,304
201 L2 AH| 5,157 5,730 A573
01 AFR2t2/H] 5,157 5,730 A573
Olget2H|] 2,427 3,000 A573
ORNSY SUN (20U MZ2AM)
A 2,427,000 * 14l 2,427 3,000 A573
202 OdH] 6,577 7,308 AT731
01 2o 6,577 7,308 AT731
EN2Y A (S0l AE2H)
AA 6,577,0008 * 14 6,577 7,308 AT731
Hess(std2d ) 293,000 72,000 221,000
SHUNX S 293,000 72,000 221,000
TP HELZH 29 143,000 22,000 121,000
701 JIEISIHEE2 143,000 22,000 121,000
01 JIEISIHAE=Z 143,000 22,000 121,000
OxZNEELIH HES
ZA 143,000,000 * 1Al 143,000 22,000 121,000
HIISXM2IAIEFH0IS F0XKAII2 =4 100,000 0 100,000
702 JI2HEZ 100,000 0 100,000
01 DISH=2 100,000 0 100,000
OFHISANAFTUXN RIS &2
100,000,000 * 1Al 100,000 0 100,000
A EHT] 2 6,520 37,244 30,724
CHH D222 6,520 37,244 30,724
EHSIIHIISKH 2 6,520 37,244 A30,724
201 L2 AH| 6,520 7,244 AT24
02 222%H| 6,520 7,244 AT24
O[2222 < HAI 3,370 3,744 A374
OHJIES 2YED 2ZAE et HIL2(
=0 A E 2 oH ZA 2,074,0002 * 14 2,074 2,448 A374
OI[Xtgt - &etl] 3,150 3,500 A350
OFAXZ SXHI (20 AHE2H)
ZA 3,150,0002 * 14 3,150 3,500 A350
307 QI2toIA 0 30,000 30,000
05 BIZtRE2 0 30,000 A30,000
OUEargt M0 RAEH2IHI 23X 0 0 30,000 230,000




